# RESOLUTION NO. \_(6-04 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILMEN	IBER $\sqrt{2}$	ames E. Su	ngel ON	THE <u>17</u>
DAY OF	ay	, 2004.	(	1	
	1				

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE JOHN R. JURGENSEN COMPANY, FOR THE 2004 ROAD IMPROVEMENT PROJECT, CONCRETE REPAIR AND ASPHALT RESURFACING IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 2004 Road Improvement Project, Concrete Repair and Asphalt Resurfacing in the City of Centerville according to specifications prepared by the City, and

WHEREAS, the John R. Jurgensen Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by the John R. Jurgensen Company for the 2004 Road Improvement Project, Concrete Repair and Asphalt Resurfacing, marked as exhibit "A" attached hereto and made a part hereof be and is hereby accepted in the amount of \$594,559.32 and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager be and is hereby authorized to expend up to a total amount of \$620,000.00 in accordance with unit prices quoted in the bid submitted by the John R. Jurgensen Company in order to allow for contingencies during the reconstruction project.

PASSED this 17th day of May, 200.

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

#### <u>CERTIFICATE</u>

Clerk of Council

Approved as to form, consistency with existing Ordinances, the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney

#### BIDDER'S PROPOSAL

# CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT - 2004

Submitted by:

Having read the specifications and examined the drawings included herein:

#### Concrete Repair and Asphalt Resurfacing Road Improvement Project - 2004 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

#### A. STATEMENT BY ALL BIDDERS:

The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.

Addenda No.	Date
Addenda No.	Date

# B. CONSTRUCTION COST INFORMATION (breakdown required)

The bid shall be broken down as follows and the grand total shall be the sum of all items.

### STREET PROGRAM RELATED ITEMS

DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
201	Tree Removal, 6" – 12" including stump	3 EA	\$ 400.00	S 1200.00
201	Tree Removal, 12" – 18" including stump	2 EA	\$_600.00	S_1200.00
201	Tree Removal, 18" – 24" including stump	2 EA	\$ 750.00	S 1500.00
202	Concrete Curb Removed	4800 LF	\$ 4.00	\$ 19200.00
202	Concrete Driveway Removed up to 8" thick	1300 SF	\$ 2.00	\$ 2600.00

# BID SHEET 2 OF 5

DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
202	Concrete Pavement Removed up to 8" thick	200 SY	\$ <u>14.50</u>	\$ 2900.00
202	Concrete Ramp Removed	1000 SF	\$ 1.50	\$ 1500.00
202	Sidewalk Removed	1500 SF	\$ 1.50	\$ 2250.00
252	Remove rigid and replace w/ flexible pavement	750 SY	\$ 51.00	\$ <u>38250.0</u> 0
253	Concrete joint milling & repair	500 LF	\$ 11.00	\$ 5500.00
253	Pavement Repair	500 SY	\$ 24.00	\$ 14500.00
253	Undercutting	20 CY	\$ 38.00	\$ 760.00
254	Pavement Planing with millings to Contractor	44,704 SY	\$ .95	s 42468.80
407	Tack Coat; 0.2 GAL SY	9,200 GAL	5 .01	\$ 92.00
448	Type 1 Asphalt Concrete, PG 6 Medium Traffic, 4" driveway		\$_4.00_	\$ 800.00
448	Type 1, Asphalt Concrete, PG 64-22, Surface, Medium Traf 1" to 1-1/4" thick	1357 CY fic,	s <u>74.50</u>	\$ 101 096.50
448	Type 1, Asphalt Concrete, PG 64-22, Intermediate, Medium 3/4" thick	968 CY Traffic,	\$ 74.50	\$ 72116.00
452	Concrete Driveway, 6" thick	1200 SF	\$ 5,50	\$ 6600.00
452	Concrete Driveway, 8" thick	100 SF	\$ 7.00	\$ 700.00
452	Concrete Pavement, 7" thick	200 SY	\$ 29.00	\$ 5600.00
603	12" Pipe Rebuilt	32 LF	\$ 50.00	\$ 1600.00
603	12" Pipe Replaced (Lateral)	72 LF	\$ 65 00	\$ 4680.00
604	Major Catch Basin Repair	31 EA	\$ 950.00	\$ 29450.00
		(2)		

# BID SHEET 3 OF 5

DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
604	Major Catch Basin Repair - Doul	ole 7 EA	\$1350.00	5 9450.00
604	Major CB Repair with 1 pipe sec	tion 2 EA	\$ 1450.00	s 2900.00
604	Minor Catch Basin Repair	21 EA	\$ 550.00	S 11550.00
604	Minor Catch Basin Repair - Dou	ble 2 EA	\$ 700.00	S 1400.00
604	CB R/M & R/PL - Type 2 x 2	1 EA	\$ 1150.00	S 1150.00
604	Remove existing catch basin & replace w/ Type 3A	4 EA	\$ 2350.0D	s 9400.00
604	Minor Repair of Manholes	3 EA	\$ 500.00	S 1500 00
604	Manholes Adjusted to grade	21 EA	\$ 310.00	s 6510.00
604	Water Valves Adjusted to grade	24 EA	\$ 195.00	s 4680.00
605	4" Underdrain under grass	500 LF	\$ 10.00	S 5000.00
605	4" Underdrain under driveways	100 LF	\$ 14,00	S_1400,00
605	6" Underdrain under grass	100 LF	\$ 11.00	S 1100.00
608	4" Sidewalk - concrete	1500 SF	\$ 4.50	S_6750.00
608	6" Curb Ramps - concrete	1000 SF	\$ 9,50	s 9500.00
609	Concrete Curb and Gutter - replaced in kind	4800 LF	\$ 20.00	\$ 96000.00
614	Maintaining Traffic	LUMP SUM	\$ 13000,00	\$ 13000.00
644	Centerline, 4" double yellow	1.0 MI	\$ 3400.00	\$ 3400.00
644	Edge line, 4" white solid	0.5 MI	\$ 1700.00	\$ 850.00
644	Lane line, 4" white dashed	0.7 MI	\$ 880.00	\$ 616.00
644	Channel line, 8" white	180 LF	\$ 1.25	\$ 725,00
644	Arrow, straight or turn, white	2 EA	\$ 80.00	\$ 160.00
		61		

# BID SHEET 4 OF 5

DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
644 Arrow, combination, white	1EA	\$ 132.00	S_132.00
644 STOP bar, 24" white	160 LF	\$ 5.45	\$ 872.00
644 Crosswalk, 12" white	174 LF	\$ 2.25	s_391.50
Spec Crack Seal	16,000 LBS	\$ 1.50	s 24000.00
Spec SAMI, Type 1	13,478 SY	\$_1.84	\$ 24799.52
Spec Tensar base reinforced (SS-2 Or approved equal)	300 SY	\$ 4.20	S_1260.00
GRAND TOTAL		\$ 594499	7.32

<u>ALTERNATE BID ITEMS</u>: (These items will be used on an as needed basis only or must be substituted with like items above.)

253	A Pavement Repair - Special Type A - typically Montgomery Co	100 SY ounty water mai	\$ 90.00 n cuts	S <u>9000.00</u>
2532	A Pavement Repair - Special  Type B - typically Montgomery (	100 SY County water m	\$ 90.00 ain cuts	S 9000.00
254	Pavement Planing w/ millings 44, to City	704 SY	\$ 1.20	5_53644.80
448	Type 1, Recycled Asphalt Concrete, PG64-22, Surface, Medium Traffic, 1"	1357 CY	\$ <u>73.50</u>	s_99739,50
448	Type 1, Recycled Asphalt Concrete, PG64-22, Intermediate, Medium Traffic, ¾"	968 CY	\$ 73.5D	s <u>71148.00</u>
604	Manhole, Type A Reconstruction	1 EA	\$ 2200.00	\$ 2200.00

C.	COMPLETION DATE INFORMATION
	The bid price reflected above represents a completion date of August 27, 2004. If an alternate completion date is proposed, it shall be specified hereafter.
	ALTERNATE COMPLETION DATE: NA
D.	CONTRACT PREPARATION INFORMATION
	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.
NAMI	E OF COMPANY/CORPORATION: John R. Jurgensen G. E OF PRESIDENT: James P. Jurgensen LESS: 11641 Mosteller Rd. Gn., Oh 45241
NAMI	E OF PRESIDENT: James P. Jurgensen
ADDR	IESS: 11691 Mosteller Rd. Cin., Oh 45241
	STATE, ZIP
FEDE	RAL TAX I.D. #: 31-057 8656
	PHONE #: 937.293.3112
	937.293.9251
	EXECUTION OF PROPOSAL
NOTE THIS I	Failure to sign proposal shall result in rejection of bid. PROPOSAL SUBMITTED BY: John R. Jurgansan Co.
BY:	Failure to sign proposal shall result in rejection of bid.  PROPOSAL SUBMITTED BY: John R. Jurgansan Co.  (NAME OF CONTRACTOR)  (SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
DATE	5/11/04
Contac	et person for Contract processing: Pete Flora
Mailin	g address if different from above: 1901 Dry den Rd
	g address if different from above: 1901 Dry den Rd  Day fon, 0h 45439